On non-homogeneous octic equation with four unknowns

 $x^2 = y^3 + z^5 w^3$

¹M.A.Gopalan, ²S.Vidhyalaksmi, ³J.Shanthi ^{*}

1,2 Professor, Dept. of Mathematics, Shrimati Indira Gandhi College, Tamil nadu, India, ¹mayilgopalan@gmail.com,²vidhyasigc@gmail.com

³ Asst. Professor, Department of Mathematics, Shrimati Indira Gandhi College, Tamil nadu, India, shanthivishvaa@gmail.com

Abstract— The non-homogeneous octic equation with four unknowns represented by the diophantine equation $x^2 = y^3 + z^5 w^3$ is analyzed for its patterns of non-zero distinct integral solutions and six different patterns of integral solutions are illustrated.

Keywords—Octic non-homogeneous equation, octic equation with four unknowns, integer solutions.

Introduction

The theory of diophantine equations offers a rich variety of fascinating problems. In particular, homogeneous and non homogeneous equations of higher degree have aroused the interest of numerous Mathematicians since antiquity [1-3].Particularly in [4, 5] special equations of sixth degree with four and five unknowns are studied. In [6-9] heptic equations with three, five and six unknowns are analysed. In [10-11] equations of eighth degree with five and six unknowns are analysed. This paper concerns with the problem of determining non-trivial integral solution of the non-homogeneous equation of eighth degree with four unknowns

I. Method of Analysis

An easy way to comply with the conference paper formatting requirements is to use this document as a template and simply type your text into it.

The eighth degree equation with four unknowns to be solved is

$$x^2 = y^3 + z^5 w^3$$
 (1)

The substitution of the transformations

$$x = t(n+w)^{8}$$

$$y = n(n+w)^{5}$$

$$z = (n+w)^{3}$$

$$(2)$$

in (1) gives

 $t^2 = n^2 - nw + w^2$ (3)

Again introducing the linear transformations $n = u \pm v$ and $w = u \mp v$

(3), it leads to

$$t^2 = u^2 + 3v^2 \tag{5}$$

The above equation is solved through different methods and using (4)&(2), different patterns of integer solutions to (1) are obtained.

Pattern 1:

It is well-known that (5) is satisfied by

$$t = 3r^2 + s^2, v = 2rs, u = 3r^2 - s^2$$

Substituting the above values of u, v and t in (4) and (2), the corresponding values of x, y, z, w are given by

$$x = (3r^{2} + s^{2})(6r^{2} - 2s^{2})^{8}$$

$$y = (3r^{2} - s^{2} \pm 2rs)(6r^{2} - 2s^{2})^{5}$$

$$z = (6r^{2} - 2s^{2})^{3}$$

$$w = 3r^{2} - s^{2} \mp 2rs$$

Pattern 2:

Express (5) as the system of double equations as

$$\begin{cases} + u = v^2 \\ - u = 3 \end{cases}$$
(6)

Solving the above system of equations (6), the corresponding values of u, v and v are given by

$$u = 2k^{2} + 2k - 1$$
$$v = 2k + 1$$
$$t = 2k^{2} + 2k + 2$$

Substituting these values of u, v and v in (4) and (2), the corresponding integer solutions to (1) are obtained as $x = (2k^2 + 2k + 2)(4k^2 + 4k - 2)^8$

$$y = (2k^{2} - 2)(4k^{2} + 4k - 2)^{5} (or)(2k^{2} + 4k)(4k^{2} + 4k - 2)^{5}$$

$$z = (4k^{2} + 4k - 2)^{3}$$

$$w = (2k^{2} + 4k)(or)(2k^{2} - 2)$$

Pattern 3:

(4) in

Writing (5) as the system of double equations as

$$\begin{array}{l} t+u=3v^2\\ t-u=1 \end{array} \right\}$$
(7)

Repeating the process as in Pattern 2, the values x, y, z, andw satisfying (1) are given

$$x = (6k^{2} + 6k + 2)(12k^{2} + 12k + 2)^{8}$$

$$y = (6k^{2} + 8k + 2)(12k^{2} + 12k + 2)^{5}(or)(6k^{2} + 4k)(12k^{2} + 12k + 2)^{7}$$

$$z = (12k^{2} + 12k + 2)^{3}$$

$$w = (6k^{2} + 8k + 2)(or)(6k^{2} + 4k)$$
Pattern 4:
Consider (3) as

$$t^{2} - w^{2} = n^{2} - nw$$
(8)

Write (8) in the form of ratio as

$$\frac{t+w}{n} = \frac{n-w}{t-w} = \frac{\alpha}{\beta}, \beta \neq 0$$

which is equivalent to the following two equations

$$t\beta + w\beta - n\alpha = 0$$

$$-t\alpha + w(\alpha - \beta) + n\alpha = 0$$

On employing the method of cross multiplication, we get

$$t = \beta^{2} - \alpha^{2} + \alpha\beta$$
$$w = \alpha^{2} - \beta^{2}$$
$$n = 2\alpha\beta - \beta^{2}$$

Substituting these values of t, w and n in (2), the non-zero distinct integral values of x, y, z, and w are given by

$$x = (\beta^2 - \alpha^2 + \alpha\beta)(\alpha^2 - 2\beta^2 + 2\alpha\beta)^8$$

$$y = (2\alpha\beta - \beta^2)(\alpha^2 - 2\beta^2 + 2\alpha\beta)^5$$

$$z = (\alpha^2 - 2\beta^2 + 2\alpha\beta)^3$$

$$w = (\alpha^2 - \beta^2)$$

Note:

Equation (8) can also be expressed in the form of ratio as

$$\frac{t+w}{n-w} = \frac{n}{t-w} = \frac{\alpha}{\beta}, \beta \neq 0$$

Repeating the analysis as above, the corresponding integer solutions to (1) are presented below

$$x = -(\beta^{2} + \alpha^{2} + \alpha\beta)(\beta^{2} - 2\alpha^{2} - 2\alpha\beta)^{8}$$

$$y = -(2\alpha\beta + \alpha^{2})(\beta^{2} - 2\alpha^{2} - 2\alpha\beta)^{5}$$

$$z = (\beta^{2} - 2\alpha^{2} - 2\alpha\beta)^{3}$$

$$w = (\beta^{2} - \alpha^{2})$$

Pattern 5:

$$t^2 - n^2 = w^2 - nw (9)$$

Write (9) in the form of ratio as

$$\frac{t-n}{w} = \frac{w-n}{t+n} = \frac{\alpha}{\beta}, \beta \neq 0$$

which is equivalent to the following two equations

$$t\beta - n\beta - w\alpha = 0$$

-t\alpha - n(\alpha + \beta) + w\beta = 0
Semploying the method of cross multiplication, we get
$$t = -(\beta^2 - \alpha^2 - \alpha\beta)$$

$$w = (\alpha^2 - \beta^2)$$

$$n = -2\alpha\beta - \beta^2$$

Substituting these values of t, w and n in (2), the non-zero distinct integral values of x, y, z, and w are given by

$$x = -(\alpha^{2} + \beta^{2} + \alpha\beta)(\alpha^{2} - 2\beta^{2} - 2\alpha\beta)^{8}$$
$$y = (\alpha^{2} - \beta^{2})(\alpha^{2} - 2\beta^{2} - 2\alpha\beta)^{5}$$
$$z = (\alpha^{2} - 2\beta^{2} - 2\alpha\beta)^{3}$$
$$w = -2\alpha\beta - \beta^{2}$$

Note:

Equation (8) can also be expressed in the form of ratio as

$$\frac{t-n}{w-n} = \frac{w}{t+n} = \frac{\alpha}{\beta}, \beta \neq 0$$

Repeating the analysis as above the corresponding integer solutions to (1) are given below

$$x = (\alpha\beta - \beta^2 - \alpha^2)(2\alpha^2 - \beta^2 - 2\alpha\beta)^8$$
$$y = (\alpha^2 - \beta^2)(2\alpha^2 - \beta^2 - 2\alpha\beta)^5$$
$$z = (2\alpha^2 - \beta^2 - 2\alpha\beta)^3$$
$$w = (\alpha^2 - 2\alpha\beta)$$

Pattern 6: Write (5) as

$$t^2 - 3v^2 = u^2 * 1 \tag{10}$$

Take
$$u = a^2 - 3b^2 \tag{11}$$

and write 1 as

$$1 = (2 + \sqrt{3})(2 - \sqrt{3}) \tag{12}$$

Substituting (11), (12) in (10) and applying the method of factorization, define

$$(t + \sqrt{3}v) = (a + \sqrt{3}b)^2(2 + \sqrt{3})$$

Equating the rational and irrational parts in the above equation, we have

$$t = (2a^{2} + 3b^{2} + 4ab)$$
$$v = (a^{2} + 3b^{2} + 4ab)$$

Substituting these values of *t*, *v* and *u* in (4) and (2), the corresponding integer solutions to (1) are given by $x = (2a^2 + 6b^2 + 6ab)(2a^2 - 6b^2)^8$ $y = (2a^2 + 4ab)(2a^2 - 6b^2)^5 (or)(-6b^2 - 4ab)(2a^2 - 6b^2)^5$ $z = (2a^2 - 6b^2)^3$

$$w = (-6b^2 - 4ab)(or)(2a^2 + 4ab)$$

Note:

1 can also be written as

$$1 = (7 + 4\sqrt{3})(7 - 4\sqrt{3})$$

For this choice, the integer solutions to (1) are found to be
$$x = (7a^{2} + 21b^{2} + 24ab)(2a^{2} - 6b^{2})^{8}$$
$$y = (5a^{2} + 9b^{2} + 14ab)(2a^{2} - 6b^{2})^{5} (or)$$
$$(-3a^{2} - 15b^{2} - 14ab)(2a^{2} - 6b^{2})^{5}$$
$$z = (2a^{2} - 6b^{2})^{3}$$
$$w = (-3a^{2} - 15b^{2} - 14ab)(or)(5a^{2} + 9b^{2} + 4ab)$$

Conclusion

In this paper, we have obtained different patterns of solutions to Octic equation with four unknowns. As Diophantine equations are rich in variety one may search for other choices of octic equations with multi variables for obtaining there integer solutions with suitable properties.

References

1.Carmichael, R.D, (1959)The theory of numbers and Diophantine Analysis, Dover Publications, New York

2.Dickson ,L.E.(1952), History of Theory of Numbers, Vol.11, Chelsea Publishing company,New York

3. Mordell, L.J.(1969) Diophantine equations, Academic Press, London

4. Gopalan, M.A.Vidhyalakshmi .S and Lakshmi.K, (Nov.2012), On the non-homogeneous sexticequation

 $x^{4} + 2(x^{2} + w)x^{2}y^{2} + y^{4} = z^{4}$,IJAMA,4(2),171-173

5. Gopalan, M.A, Vidhyalakshmi.S and Lakshmi.K (Dec.2012) Integral Solutions of the sextic sequation with five unknowns $x^3 + y^3 = z^3 + w^3 + 3(x + y)T^5$ JESRT,502-504 6. Gopalan M.A. and sangeetha.G, (2011), Parametric integral solutions of the heptic equation with five unknowns

 $x^4 - y^4 + 2(x^3 + y^3)(x - y) = 2(X^2 - Y^2)z^5$ Bessel Journal of Mathematics 1(1), 17-22

of Mathematics 1(1), 17-22 7. Gopalan ,M.A.and sangeetha.G, (2012), On the heptic diophantine equations with 5 unknown $x^4 - y^4 = (X^2 - Y^2)z^5$, Antarctica Journal of Mathematics, 9(5), 371-375

8. Manjusomnath, G.sangeetha and M.A.Gopalan,(2012),On the non-homogeneous heptic equations with 3 unknown $x^3 + (2^p - 1)y^5 = z^7$, Diophantine journal of

unknown $x^{+} + (2^{T} - 1)y^{+} = z$, Diopnantine journ Mathematics, Vol.1(2), 117-121

9. Vidhyalakshmi,S. Lakshmi,K and Gopalan, M.A. (May-June, 2013), Integral Solutions of the Non-homogeneous heptic equation in terms of the generalized Fibonacci and Lucas sequence $x^5 + y^5 - (x^3 + y^3)(xy) - 4z^2w = 3(P^2 - T^2)^2w^3$, JMER, Vol. .3(3), 1424-1427

10. Vidhyalakshmi,S. Lakshmi.K and Gopalan, M.A. (May-2013), Observation on the non-homogeneous equation of the eighth degree with five unknowns

 $x^{4} - y^{4} = (k^{2} + s^{2})(z^{2} - w^{2})p^{6}$, IJIRSET, Vol.2(5), 1789-1798

11. Vidhyalakshmi,S.Lakshmi.K and Gopalan, M.A. (May2013), On the non-homogeneous equation of the eighth degree with six unknowns $x^5 - y^5 + (x^3 - y^3)(xy) = p(z^2 - w^2)^2 T^3$, IJESRT, Vol.2 (5), 1218-1223